

On the partially degenerate Bernoulli polynomials of the first kind

Feng Qi

*Department of Mathematics,
Tianjin Polytechnic University,
Tianjin 300160, China.*

Dmitry Victorovich Dolgy

*Institute of Natural Sciences,
Far Eastern Federal University,
690950 Vladivostok, Russia.*

Taekyun Kim

*Department of Mathematics,
Kwangwoon University, Seoul 139-701, Korea*

Cheon Seoung Ryoo

*Department of Mathematics,
Hannam University, Daejeon 306-791, Korea*

Abstract

In [2], L. Carlitz introduced the degenerate Bernoulli polynomials. In this paper, we consider the partially degenerate Bernoulli polynomials of the first kind which are different the Carlitz's degenerate Bernoulli polynomials.

AMS subject classification: 11B68, 11S40, 11S80.

Keywords: Bernoulli numbers and polynomials, degenerate Bernoulli polynomials.

1. Introduction

The Bernoulli polynomials are defined by the generating function to be

$$\frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (\text{see [1-17]}).$$

When $x = 0$, $B_n(0) = B_n$ are called Bernoulli numbers.

Let p be a fixed integer. Throughout this paper \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of algebraic closure of \mathbb{Q}_p . The p -adic norm $|\cdot|_p$ is normally defined as $|p|_p = p^{-1}$.

Let $f(x)$ be continuous function on \mathbb{Z}_p . Then the p -adic invariant integral on \mathbb{Z}_p is defined by

$$\begin{aligned} \int_{\mathbb{Z}_p} f(x) d\mu_0(x) &= \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) \mu_0(x + p^N \mathbb{Z}_p) \\ &= \lim_{N \rightarrow \infty} \frac{1}{p^N} \sum_{x=0}^{p^N-1} f(x), \quad (\text{see [9]}). \end{aligned} \quad (1)$$

From (1), we can derive the following equation:

$$\int_{\mathbb{Z}_p} f_n(x) d\mu_0(x) - \int_{\mathbb{Z}_p} f(x) d\mu_0(x) = \sum_{l=0}^{n-1} f'(l), \quad (n \in \mathbb{N}), \quad (2)$$

where $f_n(x) = f(x+n)$, (see [9, 11]).

By (2), we get

$$\int_{\mathbb{Z}_p} e^{(x+y)t} d\mu_0(y) = \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}. \quad (3)$$

In this paper, we consider the partially degenerate Bernoulli polynomials of the first kind which are different the Carlitz's degenerate Bernoulli polynomials.

2. On the partially degenerate Bernoulli polynomials of the first kind

Let us assume that $\lambda, t \in \mathbb{C}_p$ such that $|\lambda t|_p < p^{-\frac{1}{p-1}}$. Then, we consider the partially degenerate Bernoulli polynomials of the first kind which are given by the generating function to be

$$\frac{\log(1 + \lambda t)^{1/\lambda}}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{t^n}{n!}. \quad (4)$$

When $x = 0$, $B_{n,\lambda}(0) = B_{n,\lambda}$ are called the partially degenerate Bernoulli numbers of the first kind.

From (4), we note that

$$\begin{aligned} \sum_{n=0}^{\infty} \lim_{\lambda \rightarrow 0} B_{n,\lambda}(x) \frac{t^n}{n!} &= \lim_{\lambda \rightarrow 0} \frac{\log(1 + \lambda t)^{1/\lambda}}{e^t - 1} e^{xt} \\ &= \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}. \end{aligned}$$

Thus, we get

$$\lim_{\lambda \rightarrow 0} B_{n,\lambda}(x) = B_n(x), \quad (n \geq 0).$$

From (4), we have

$$\begin{aligned} \frac{\log(1 + \lambda t)^{1/\lambda}}{e^t - 1} e^{xt} &= \left(\frac{\log(1 + \lambda t)}{\lambda t} \right) \left(\frac{t}{e^t - 1} \right) e^{xt} \\ &= \left(\sum_{l=0}^{\infty} \frac{(-1)^l}{l+1} \lambda^l t^l \right) \left(\sum_{m=0}^{\infty} B_m(x) \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \frac{n! (-1)^l \lambda^l}{(l+1)(n-l)!} B_{n-l}(x) \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} \frac{(-1)^l l!}{(l+1)} \lambda^l B_{n-l}(x) \right) \frac{t^n}{n!}. \end{aligned} \quad (5)$$

Therefore, by (4) and (5), we obtain the following theorem.

Theorem 2.1. For $n \geq 0$, we have

$$B_{n,\lambda}(x) = \sum_{l=0}^n \binom{n}{l} \frac{l!}{(l+1)} (-\lambda)^l B_{n-l}(x).$$

By (4), we get

$$\begin{aligned} \sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{t^n}{n!} &= \left(\frac{\log(1 + \lambda t)^{1/\lambda}}{e^t - 1} \right) e^{xt} \\ &= \left(\sum_{l=0}^{\infty} B_{n,\lambda} \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} x^m \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} B_{l,\lambda} x^{n-l} \right) \frac{t^n}{n!}. \end{aligned} \quad (6)$$

From (6), we have

$$B_{n,\lambda}(x) = \sum_{l=0}^n \binom{n}{l} B_{l,\lambda} x^{n-l}, \quad (n \geq 0). \quad (7)$$

It is not difficult to show that

$$B_{0,\lambda} = 1, \quad (B_{\lambda} + 1)^n - B_{n,\lambda} = (n-1)! (-1)^{n-1} \lambda^{n-1}, \quad \text{if } n \geq 1, \quad (8)$$

with the usual convention about replacing B_{λ}^n by $B_{n,\lambda}$.

Therefore, by (7) and (8), we obtain the following theorem.

Theorem 2.2. For $n \geq 0$, we have

$$B_{n,\lambda}(x) = (B_\lambda + x)^n = \sum_{l=0}^n \binom{n}{l} B_{l,\lambda} x^{n-l}.$$

In particular,

$$B_{0,\lambda} = 1, (B_\lambda + 1)^n - B_{n,\lambda} = (n-1)!(-1)^{n-1}\lambda^{n-1}, (n \geq 1),$$

with the usual convention about replacing B_λ^n by $B_{n,\lambda}$.

Form (2), (3) and (4), we can derive the following equation:

$$\begin{aligned} \frac{\log(1+\lambda t)^{1/\lambda}}{e^t-1} e^{xt} &= \int_{\mathbb{Z}_p} \int_{\mathbb{Z}_p} (1+\lambda t)^{x_1} e^{(x_2+x)t} d\mu_0(x_1) d\mu_0(x_2) \\ &= \left(\sum_{l=0}^{\infty} \lambda^l \int_{\mathbb{Z}_p} (x_1)_l d\mu_0(x_1) \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} \int_{\mathbb{Z}_p} (x_2+x)^m d\mu_0(x_2) \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \lambda^l \binom{n}{l} \int_{\mathbb{Z}_p} (x_1)_l d\mu_0(x_1) \int_{\mathbb{Z}_p} (x_2+x)^{n-l} d\mu_0(x_2) \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \lambda^l \binom{n}{l} B_{n-l}(x) \int_{\mathbb{Z}_p} (x_1)_l d\mu_0(x_1) \right) \frac{t^n}{n!}, \end{aligned} \quad (9)$$

where $(x_1)_l = x_1(x_1-1)\cdots(x_1-l+1)$.

It is known that Daehee polynomials are given by the generating function to be

$$\int_{\mathbb{Z}_p} (1+t)^{x_1+x} d\mu_0(x_1) = \frac{\log(1+t)}{t} (1+t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}. \quad (10)$$

When $x=0$, $D_n(0) = D_n$ are called Daehee numbers.

From (9) and (10), we have

$$\int_{\mathbb{Z}_p} (1+t)^{x_1} d\mu_0(x_1) = \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} (x_1)_n d\mu_0(x_1) \frac{t^n}{n!} = \sum_{n=0}^{\infty} D_n \frac{t^n}{n!}, \quad (11)$$

where $(x_1)_n = x_1(x_1-1)\cdots(x_1-n+1)$.

Thus, by (11), we get

$$\int_{\mathbb{Z}_p} (x_1)_n d\mu_0(x_1) = D_n, (n \geq 0). \quad (12)$$

Therefore, by (9) and (12), we obtain the following theorem.

Theorem 2.3. For $n \geq 0$, we have

$$B_{n,\lambda}(x) = \sum_{l=0}^n \lambda^l \binom{n}{l} B_{n-l}(x) D_l.$$

Now, we observe that

$$\begin{aligned} \frac{\log(1 + \lambda t)^{1/\lambda}}{e^t - 1} e^{xt} &= \frac{\log(1 + \lambda t)^{1/\lambda}}{e^{dt} - 1} \sum_{l=0}^{d-1} e^{(l+x)t} \\ &= \frac{1}{d} \sum_{l=0}^{d-1} \frac{\log(1 + \frac{\lambda}{d} dt)^{d/\lambda}}{e^{dt} - 1} e^{\left(\frac{l+x}{d}\right)dt} \\ &= \sum_{n=0}^{\infty} \left(d^{n-1} \sum_{l=0}^{d-1} B_{n,\lambda/d} \left(\frac{l+x}{d} \right) \right) \frac{t^n}{n!}, \quad (d \in \mathbb{N}). \end{aligned} \tag{13}$$

Therefore, by (4) and (13), we obtain the following theorem.

Theorem 2.4. For $n \geq 0$ and $d \in \mathbb{N}$, we have

$$B_{n,\lambda}(x) = d^{n-1} \sum_{l=0}^{d-1} B_{n,\lambda/d} \left(\frac{l+x}{d} \right).$$

References

- [1] S. Araci, M. Acikgoz, E. Sen, On the extended Kim's p -adic q -deformed fermionic integrals in the p -adic integer ring, *J. Number Theory* 133(2013), no. 10, 3348–3361.
- [2] L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, *Utilitas Math.* 15(1979), 51–88.
- [3] L. Carlitz, A degenerate Staudt-Clausen theorem, *Arch. Math. (Basel)* 7(1956), 28–33.
- [4] Y. Do, D. Lim, On (h, q) -Daehee numbers and polynomials, *Adv. Difference Equ.* 2015, 2015:107.
- [5] D. V. Dolgy, T. Kim, S.-H. Rim, S. H. Lee, Symmetry identities for the generalized higher-order q -Bernoulli polynomials under S_3 arising from p -adic Volkenborn integral on \mathbb{Z}_p , *Proc. Jangjeon Math. Soc.* 17(2014), no. 4, 645–650.
- [6] D. S. Kim, T. Kim, Some identities of degenerate Euler polynomials arising from p -adic fermionic integrals on \mathbb{Z}_p , *Integral Transforms Spec. Funct.* 26(2015), no. 4, 295–302.

- [7] D. S. Kim, T. Kim, q -Bernoulli polynomials and q -umbral calculus, *Sci. China Math.* 57(2014), no. 9, 1867–1874.
- [8] T. Kim, Barnes' type multiple degenerate Bernoulli and Euler polynomials, *Appl. Math. Comput.* 258(2015), 556–564.
- [9] T. Kim, q -Volkenborn integration, *Russ. J. Math. Phys.* 9(2002), no. 3, 288–299.
- [10] T. Kim, On explicit formulas of p -adic q - L -functions, *Kyushu J. Math.* 48(1994), no. 1, 73–86.
- [11] T. Kim, An invariant p -adic q -integral on \mathbb{Z}_p , *Appl. Math. Lett.* 21(2008), no. 2, 105–108.
- [12] T. Kim, J. J. Seo, A note on partially degenerate Bernoulli numbers and polynomials, *Journal of Mathematical Analysis* 6(2015), no. 2(in press).
- [13] T. Kim, q -Bernoulli numbers and polynomials associated with Gaussian binomial coefficients, *Russ. J. Math. Phys.* 15(2008), no. 1, 51–57
- [14] E.-J. Moon, J.-W. Park, S.-H. Rim, A note on the generalized q -Daehee numbers of higher order, *Proc. Jangjeon Math. Soc.* 17(2014), no. 4, 557–565.
- [15] H. Ozden, I. N. Cangul, Y. Simsek, Remarks on q -Bernoulli numbers associated with Daehee numbers, *Adv. Stud. Contemp. Math.* 18(2009), no. 1, 41–48.
- [16] J.-W. Park, New extension of q -Bernoulli polynomials, *Appl. Math. Sci. (Ruse)* 8(2014), no. 21-24, 1157–1164.
- [17] C. S. Ryoo, An identity of the twisted q -Euler polynomials with weak weight α associated with the p -adic q -integrals on \mathbb{Z}_p , *J. Comput. Anal. Appl.* 16(2014), no. 3, 509–514.